Efficiency vs P,

0.5

vs p
o
>
T

©
»
|

.................................................

ernciency

0,350 oo S S—

©
w

0.25F oo S S—
0.2
0.15

8 JOOER 5 RO P

005 +++seeeieneeenenchonen bl

Ratio

HRE3

+
"
b g
+

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

..........................

R e 1 2 3

TP n

9-0.5:

................................................

el ]
= ]
ol r| 1
(14 H-- 1

4

IES

3




	Contents
	Page 1


